(e*r e®) K,J

-

cosh =

> L
LY sah ()
: l 3
s = 3 (ex-ﬁx> /;x
= bor (50

h= sah a
ash—sth /_fx

coslx - sahfoc = ]
s (A+8) = sih () osh(8) + ash(A) san(e)
osh (A18) = cosh (M coth (8) +  sah (A) sih (8)

Gmﬂxog cosh (%) wldd a Caket\m:ﬁ=

- SWQO? chain ijﬂw\z{ﬂ ol
- Used @ stwcural dﬂétﬁm J J;J



+)©

) = 0 + 'Jsu'xQ

Q'JG = w30 - \)SU\.Q

Coo0 = 'Z (M€ + e J9)

suxG—:'z-J‘ (QJQ eJe}

W 9-= ke

(e - 7 %4 ¢ > = wohx
l 8

S )L Zj le.¢*) = )&ch

Comgla Argmex\iﬁ fm- SW, o5, et

s (2) = sh (1+)3>
= sn(2)cos()y) + coo(x) sin (3y)
0 sal2) = sq () cosh (3) ¥ \)ws(x) st h <j>



ad  05(2) = ws(@eesh(y) - Jsut(x) 5('1»#\(3)
fud valus bz Swh lat cosz=2

Co% (our'yﬂ =2
cos (29 cosh (3) SR e (suh(y) =2 + jO

O s (X)ewshiy) =2 Q) sa(x) 5@}\(3) = 0

]FMY\@ ulbher 9=O ov x =0



